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SECTION-A
Choose the correct answer : - | 1x10=10

W% Taht 31l Shreyt —
T e e
8 et v -
T@Imgfy:

(1)  Which of the following is not an example of metalloid ?

S IO 4G IFR Bviiegel vzy 9

1.

P8 4 9 urgres = sqEw Y

@ Si ) Ge
(¢) B | @ Al

@ Which of the following compound is used in soda — acid fire extinguisher ?
L TREED @R R oo Rt e e - \.

e co e G- sibre wht o T R 2w —
Tt A TR B 'e1-ure o weon g sEEE -
ﬁwﬁ@rﬁsaﬁﬁaswmnthm-maﬁmﬁﬁmm% ?
(@) NaGl ' (b) Na,CO,

(& -NaHCO, () NHCI

(iii) Decomposition of vegetable matters into compost is an example of which of
the following class of reaction ?

TR T A ARA ARTET QA TR @ e Rider
Trraet 2

WWWWWNWWMM%MW? E'

Bt ey e e e g TR A ey Rt ARy 7
aee e 1 e ¥ srawen e 3 R i w1 o e
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(a) Endothermic reaction (b) Exothermic reaction
e R SR fRferm
SR R iR Rt
£ ML IGIE D) oAt e

(c) Both | (d) None of the above

-t @7Fq b1 7
TR T aTbe T

o L T B A Rl

(iv) When electric current is passed through the ¢coil of a solenoid, then the
magnetic field

BWQQ%WWWWT,WN—
mmaaymmmwmmmmm,
CW_

mﬁmmmmmmwm-

e fepeft w40 et f firem v Bt & a9 a8 —

(a) increases along the direction of current.

2RITS 2RI frers A7
AR 2R e AT
AT FrERf frma &
fga e H fndsg o |

(b) decreases along the direction of current.

RIS e s TfRT
ARRIRS &R i I3
g grerh femma wfm
frga e A Rmd gz o k|

B23-GS (EN/AS/BN/BD/HN) 3 ‘ 3050
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(c) remains the same at all times.

TR TS G A
TR T (P YR
TR THTER) T YT
TR wRwa |
(d) becomes zero B
- o
WX
 @RTR
(V) Which of the following is used to nféasure the poféntial difference of a
circuit ? :
SR ORI T RreT oo i T e 2 —
e oS 167w Rrog e i Rmo = |
TR AT AU SrEy G g e e -
et wice 3 Riviaiam ot e 3 fora i 3 & et s R smen 22
() Ammeters ' (b) Voltmeter
<R THRbE
R TR
qfien - weefer
L | S
(¢) Galvanometer (d) Multimeter
L (WRREIOE TR
MrTSITAIRGR TRGE
e firen | wifeefier
L0 L _
B23-GS (EN/AS/BN/BD/HN) 4 3080
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@hich of the following is a conventional source of energy ?
TS TS T *R=rers e Test 2

e b ormsmrs xfem B 2
T T TR R SR G 7 .
s meai o 7
(a) Wind energy (b) Nuclear energy
R e fePm=fe
(¢) Geo-thermal energy (d) Wéve energy
-1 e - S AfE
G- = oo i
whgafa ) e

(vii) Which of the following can depleted Ozone layer 7
TS BRI (FIET & o 9 S PR A —

e b e w7 SRR RS R 2
MERTE 7@ T4 A7 'S YRG! =G’ B TR 7
= & @ =l e W Y srvafie a7

(a) Chloroflouro carbon (b) Nitrogen .
FIFT IR ARG T
CPITAIPICA T TR
VR FET L1t CAC
FRITIAY P MR
B23-GS (EN/AS/BN/BD/HN) 5 3050
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©

Hydrogen
QRS T

QRIS
e

LG

(d) Oxygen

SRS
i (e
fRaoH

K ICCIEE

(viii) Which of the following constitute a food chain ?

TS STER I RINT I %23 oo I 7

e @R 1 y=E 15H I 2

o & & =9 e gEen w i Fw § 2

(a)

(®)

©

Grass, Wheat and Mango -
41z, T98 1% o

T, N GRS

Y, T AR UTEH

T, g aUT AH

Grass, Goat'and Human
91z, QIR &IF TR
I, RI91E QR ¥
TiEY, S AR AR
1H, g6 91 AHa
Goat, Cow and Elephant
QoA 9% a2
B, o GRS
wv, wrelt S A%
T, T At weft

B23-GS (EN/AS/BN/BD/HN) 6
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(d) Grass, Fish and Goat

Xz, Y S QoA

IO, TR R Lo
TR, 1 SR S | =
U, TSel! a1 a6t

(ix) Which of the following is responsible for change in the curvature of eye
lenses ? :

TS SRS 323 A 534 PR I #1621 2
e @Ebe o oeE GeR IFe ARSI ?
MRS T@ AT I ARG N A ST SeE— S/ 7
v Fw Y o § wiad & forg fre i & 2 et 2

(@) Retina } (b) Iris
wftls R
| (c) Ciliéry muscles ' (d) Optic nerve
vt YRt 3% i
(x)

The focal length of a lens is 1 mefre. Its power is
TR 9974 T'31g ¢ 1 bR, et 27 —

G IR CPRRT O7ef 1 bR, @ et v —

A TR %' Iy 1 fer, 3 e sw -
foreft fa iy B gft | i ® | et e wnft -

(@ 05D | () 1D
(¢ 1.5D @ 2D
B23-GS (EN/AS/BN/BD/HN) 7
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4

. 1x10=19
2. Choose the correct answer of the following :

TS ot - Teaeh! Ak SRreat :
e ws Serd QRS :

e BAR 18 e aaa’
= 3wt s

(i) Image formed by a concave mirror is

SRS AT 1P aifeRe

s weie aifde iR

TS AT GHRENT GRrEET —
A IO AT =1 i B g -

(a) real and diminished

AR IF FIPOS
AR G IS | ” “
IR AR g o LU

(b) real and enlarged : ‘ *\
e oi% s ' REY - y

’ - e Gk RIS

‘4 ' IR A TR

. ARt ayr faafiia

| (¢) virtualand enlarged
e % [RRfES
e 3R R3S
IRAfE R 3R
Fmret aun fyaftia

(d) virtual and diminished
TR F TPTS

IR 3 FEFIES
IUTATY IR g
3TE YT B

B23-GS (EN/AS/BN/BD/HN) 8
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(ii) Ifthe refractive index of glass is 1.5, then speed of light in glass is
PR RN 1.5 T, FI6S (I BRET'T —
I RIS 1.5 70, 105 ST T 7 —
Tt e v 1.5 s, g e |@Rify e e
e e &1 sadaE 1.5 8, AFimmH I -

(8 2x108m/s (b) 3 x105m/s
(€ 225x108m/s S (d). 3x108mJs

(iii) Breakdown of glucose into pyruvate takes place in the

A SR O SRS AR T -  mgm
ST, 3 T3 3 SO HERTSTS AR T &ﬁ
TR H TR § RrasT g d - |
(@) Cellcytoplasm (b) Mitochdn_dria
R (PRATTS TGS
Hifr g i TR i
(¢) Cell membrane (d) Golgibody
RIS st 3RS
CPITTA (TR [\ DEIRA
e wopa | e afeam
vt fireef & et aid &
B23-GS (EN/AS/BN/BD/HN) 9 3050
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(iv) The energy currency for most of the cellular processes is

WS il 2fF ifw @ iR
R o @il efdvmR il @ e
rivifte Rrafa e e Sk SRR G -
Fftrewr R ol & R sl g g -
(a ADP (b) AMP
(©) ATP , @ €O,
(V) ‘The gap between the two neurons s called a A _
D! LRI S 7y SRR e 2w — ..
b NI TR IR 30T
QA A IR % T e T ) e & -
(@) dendritt  ___\’" (b) synapse
e N L T
g - i
(¢) axon - (d) nerveending
R mew
)i C | WS
Lon el <frafy ‘
df e & aiftm ey
B23-GS (EN/AS/BN/BD/HN) 10 i e
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(vi) Which of the following is a plant hormone ?

TR (! @iy Bfew Tw'w 2

e e aerpim SRem T 2 mom

TRTEfR A& HR AR T EI'

e daaw o meudn e ¢

(a) Insulin . (b) Thyroxin
TR R
L . R
wghm ' T
Hfem YTeRifRa

() Oéstrogen | ) Cyfokinin |
BB ‘ TR

e process of giving(risé to new individual organisms from the body parts
of many fully differentiated organisms is known as

fom e R 97 Gk PrRes i3 @I SieiF ~[1R g @bt 2oy &9

Beoifs 3 71'3 1t &AfeFIThRe e = —

fon o PR 3] &7 OIvE ot @I I (AT T @I AT §i7
Tesife IR afeFnibee 3=

qoiedur faifea A ot wifles Wit aryiq el @ Tu i & RreRm Bt o £ |
v shr A K - |

B23-GS (EN/AS/BN/BD/HN) 11 3050
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(viii) Binary fission occurs in

~ (a) Regeneration

AR Gz

ML EC]
e

KSRGS

(¢) Fragmentation

Retsm
Rews

G G

G

(b)

(d)

R-Rrsrem e wabo -
fR-Rrerem efimm weafbe -
Gﬁhﬁﬁﬁmﬁ@ﬁrmm—

feEsT g e -

(@) Amoeba
RS,
SIS
et a9
aftar §

(é) Planaria
(iS50 A
PR
A I
At

B23-GS (EN/AS/BN/BD/HN)

®

(d)

12

Page 12 of 31

Budding
TFEIN

TFETPN
A FHTARAE

gpe

Fission

e 3t Rere |
e 3t Rerem |
LG IE

EicEE]

Paramoecium

TRIGBINS

TifdEm e
Yarfifiem &

All of these

A2 SHIRARTS |
% FRSRTS |
LRICIEDICL ]
wft

. 13050
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(1x) An example of homologous organs are

TRPIRY SR Bt e e —
FTRY SCHR Q31 TRt 2 — |
e i A iR el - mg
T 37 1 o g - | '.
(a) wings of a bird and a bat

512 (OB WiF AR (T |

SN TR 7R IR O |

& el R smIeE % v

(b) wings of a butterfly and a bat
R <R ST IR T |

| mmwaaamw_n |
Ry i St st e
e faaett 3tk sweE & v

. (c) wings of a pigeon andvhands of man
2N MR PRI 2 |
YA I AHR O 43R TR TS |
<ol i oy R o
TF HYW F TF 3N AW % Ty

(d) wings of a parrot and a honey bee

bt GART A = (M <A |
Parerfm o @3k Mt St |
Ty’ Zr3f i Sy W A i

T A 3 mymeeh % T

B23-GS (EN/AS/BN/BD/HN) 13 3050
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() Which of the following chromosome sets will determine the male sex in 5
‘ human infant ?

ST IR T W T e T O < orest FAiae 33 2

e wo G oo S TeIeR cawar < fore AR TR 2
TR W S RS S AR ey e ety e f @ 7
ﬁﬂﬁﬁﬁ?mwwmmmﬁw(m)%ﬂmﬁmm?

(@ XX ' (b) XY
(©0 XO (d) YO
| 3. Fillin the gaps : | mem 1x10=10
 e— B
‘ S o IRt g
| i) o g e
| e et o) of¥ e
@ The hydrocarbon whiélis.the maJor componcnt of Compressed Natural Gas&
(CNG)is_____ ar

wﬁwﬁ@a@mmm@wmwmw |
Bt DR @lIpRoR TR @it ot 22Tt 2 O
E@Eﬁ#ﬁﬁ%ﬁmﬂammm%. _

@ The product ‘X’ of the following reaction is
o] REFAR Ritraree «mie <X ==
Mooz Rfenoa R o X0 o
TETAf Reremeagfy feen g <X a0 S
for et & seares x %
3Fe(') + 4H20(‘) - X+ 4H2(')
B23-GS (EN/AS/BN/BD/HN) 14

3050
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-
@ii/)} When iron is mixed with nickel and chromium, we get an alloy named

mm'ﬁmwmmmﬁmn«wwm\é,mm

mﬁ%mmmammmmmwmmm

ﬁﬁ;ﬁmmmaﬁmwmm -

ﬁ@:?%mm%mﬁaﬁa@__mma@m
|

The process by which some organisms fulfil their, carbon and energy
requirements and yields their stored form of energy-is\._/
mmamm«mmmﬁmw@wmm
ﬁ#mwﬁmﬂﬁs@ﬁ%w%@wﬁm |

maﬁaﬁmmmm@ﬁw@awwm%
Bl o IR 93 IR AES 70 AP 2 S I |

3 IG) A Pty S g R fEf s o
i MiRRE 31Te WIS S T, SreweTE wEe Hiem |

WiSHAT gRY Bt Hre 3R Fi H 7 et B guw § 3R

I WigTRE Tt e T | S - Bgl
PR ‘ O]
V) and _ are the reproductive parts of a flower which
contain the germ — cells.
e TH QIR TR AT W29 TS T @Y R
It | ,
9 A G TR LIS O @A G T
T | |
AR S T Ry s s SR s
Rrafrer amy |
ax_ 53 & e w7 & R e R B ¥ |
B23-GS (EN/AS/BN/BD/HN) 15 3050
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(;raA feedback mechanism regulates the action of the
R ey w ¥ faput fome =0 |

et s TRl __ o fmm formg 2 |
W g R o T o et |
frebwugft ﬁmmﬁmwmtl

(Vll _________ mirror is used as rear view in vehicles.

m@wﬁfimsm y AT JRTS |
MO et s T oy 7o RIS |
TR ITHR TR FTT STEEAH I |

T 1 IR ATt 3 - gea g e R T |

@ electric - generator, energy converted from energy to
~ ________ energy. - ' |

AR @RS wfeRcRt <A eI |

T (AR licfaiey TS TS = |

T AR Sl wfFafem drem |

forga P & el o ST i@ swidgmt
((%T‘l;’e?d trophic level'of a food chainis __ . mEom

TEIQONABIZA_ | @ﬁ

IR ORI |

sy o amfyr eten s |

HATER @ 1 AT It TR R |

\Wen combustion takes place in insufficient air (oxygen) | gas
_produces.

T AT TS Mg wzw IR TR Beom 7 |
T AT CARETS oG AT o Seoim oy |
T AR o g wEeen Y wminy

w1 T R SRR AR s

EN/AS/BN/BD/HN 16
B23-GS ( ) 3080
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4.  Answer in very short :

1x10=10
oS S T
R wefme T s ; -
‘ mgm
iy ddg g d

® Among K, Na, Ca and Mg, which one is the least reactive metal ?

K, Na, Ca &% Mg 3 R @RubR shrre! sibieete 3w 2
K, Na, Ca % Mg - < ot ba eyt s iy 9
K, Na, Ca 3 Mg 7 #rera arafx wimiftran safagg ww 7

K, Na, Ca 3R Mg # 3 97 vad sr gfpg arg & 7

(11)\\‘ On heating gypsum at 373\K, it loses water molecule and produces a white
powder. What is the cheémical formula of the white powder ?

Tz 373 KWW@WWW&C@@M&«WW@QN
= | 391 AMSHARE IPTRE A fora |

P 373 K TReom Tag e weR o AR GeRAIER st %o
Teow ZF | A ANTOIRDI IFAAF TS @0 |

Ryoamrah 373 K gumea Fsrs 93 § T T e IR Teen
iR | TE TH TSR THEATR weTE) R ?

Forem 1 373 K o 503 W 7 1 5 ST Y s e & awn s wive ol
AT ¥ | 76 ghe Ul 1 TR Tha R 7

B23-GS (EN/AS/BN/BD/HN) ' 17 3050
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~

(iii) )Wnte the thermite reaction.

< iffG RFEFTIH! foret |

I RfFmD et mom
arfie Reramergah R | B
iz srffiean = firf |

@Sodlum react violently with cold water and immediately catches ﬁre due to
the liberation of a particular gas. Identify the gas :

R oA 4 Stat =T #A9rs e Qe R 3R wore o Re @
O Teom T TR FerEaet TS gR wf B | ] Rew or Ry e
Ralll |

GG 41g Diet STem STox @ et Qeet R IR T @ Rew TR o

Teoin T | IR Ferwet Ry e w0t @tp | R R0 b e et |
g rgan g 31 e ReseTs ST, STERTE TR i e

el | A feur T el siEret | & i e Remafy @rem |

mwﬁm%mﬁﬁaﬁmm%ﬁtmnﬁmﬁmtl
TEisafa g g 7 |

(v) What is the least distance-of distinct vision of normal eye ?
TP T2 B A 408 B e 7 R 7 :
A T GBI &y B G TSN T IS 7
R A HER g T T T @A ST a7
| gfee i v g3 & fg —mem g w g 2

(vi) State the S.I. unit of electric charge.
LIS AR S.1, G ot |

T AR S.1, 9T @Y |
afera arifa 8.1, ammfe o |
forgm smam 1 5.1 AT R 7

BD/H ‘
B23-GS (EN/AS/BN/ N) 18 b
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(vit) Who first discovered that moving magnet can generate electric current in a
coil ?

Wﬁwwwmmaﬁmmamm
e 2

DN PR AR IS e emr 2wl @ aww wiiwm
TR 2

e Pifdmafs st Sramemsae Siftm qrr awfmmd @ fify fgrdie 2

Wﬁmﬁmﬁmﬁmﬁﬁgﬁmﬁq&mm%mmm
ﬁmﬁﬁmm?

at is the approximate percentage of methane in Bid-gas ?

& e e o e 2 mem
ERSR FIIER eI ot 7S 7 i
e Aaama ety Smem A= e aae 2
S & ford o v ST o €T 2 7

(ixX) What will happen if a\person consumes iodine deficient food ?

TR o e A7t o Sreer iy ardt I3 Cofeat 6 23 =1es 2
QI e e T AT WSl 417 2l 3 @4 e 20 I 2
AET T YT i A A staTet S g S rst 9 A= gn 2
A o saf ST i ol T o T e &, A A TR 7

(x) How would you define a ‘gene’ ?
‘R @b 1wl g @emeE a2
@3 R @7 ik gt ez g 2
‘o ARy gerfy = aranf g ¢
Y “R" Ao SR T € 7

B23-GS (EN/AS/BN/BD/HN) 19 3050
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§.  Determine true or false : 1x5=5§
) 3t o) et 3wt
) 3 wpTe Mot I | mEgm
8o 317 e g B
Tt 31 e 1 ol Hifg
ij (i) In modemn periodic table, elements are arranged in 18 vertical columns and 7
horizontal rows.
AT RIS SifRre (e 185 iy Bwe wiF 75 Sghe e
AR (T |
1 e erfige ot (Meelte 180 e v w3t 7l SREhee ARte
; AT TR |
| ﬁmmwmg&m@mlswmmmwm
|  HIRATE N S |
| e s aa’tﬁlsawa‘wﬁamﬂ?ﬁmﬁﬁﬁwﬁaﬁm
if- TR

(ii) - Precipitation reactions produc€ insoluble salts.
Sy eTFo RS Swiyaee Seom = |

YR RIFNTS SRy 73 Beom = |
mfes’ T fraerengare nfafy @Ry et |
A9 AR Ffrea dau I H R |

(iii) Non-metals can displace hydrogen from dilute acids.
oY RS ~[R YR 22 T &SR e FT #iiT |
oY SIS (AT TG QARG SFELHS T30S 1w |

Lo st ergafyen g S dEwA wE | |
g 73 At & w1 faenfia woawd ¥ | )
B23-GS (EN/AS/BN/BD/HN) 20 | © 3080
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6.

(iv) Coliformisa group of bacteria, found in human brain.

)

T TR AU Tt Ry i e ot |
PR ST RS R ST e r e worcw <INt |

HTEH G SRR e wRRAR Ao 2R |
Hiefent T AR g wHe s R TR E | UL
=
Roots, stems and leaves of some plants develop into new plants through

vegetative propagation.

g B frett, e w1 e o W Resraem Qe v SRem o1
LUl | .

T SR R, s G <Ml (U S RBIRTHR T gt SRevt
| - |

T At Aa, e om faqriime AR ST SRt eE
ATEHI FAH ST | :

35 Nt i g, A aen TR wf e g R Bt I
i 4 |

SECTION -B

Write one method for the preparation of bleaching powder. Write two uses of it.

1+1=2

fafR ~1ew ergoTaeR (Bt ~mfs forat | fafbr «1wiaa 75t e foret |
ffde ~1Tm ergeTR G 1wl @ | AR e b Trew et |
R TISER WA WY 3Tew o | R areeRfy WA W
faptores <[uf 3 Feare 1 T e ARG | v g 3w e |

B23-GS (EN/AS/BN/BD/HN) 21 3050
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7. Find the product of the following reactions 1+1=2
I FPTH{s RfdFT Seenfivs 73 fre |
frae effirm Seotfis wy w7t
Tt Rerememrars e fags -
e it % : S
I fRefere @'ﬁ

(8) CaCOy )+ Hy0() + COyq) —
(b) Na,CO; +10H,0 —»

~ 8. How metallic character of elements changes across periodsand groups of periodic
table. Explain. , 2

e e i i MRS 4ol o FEE-iRaS = G I |

*RIFS SRR 1 @3 3sfuhne o of ez AfReds = T I@! |
FTAIR &G ATE TR AR ETHRTE g SR wrefe e 389 |
mm%maﬂw@ﬁmwmwaﬁvﬁaﬁa@m% ? 9uiq
a‘:‘lﬁm

9. (@ Reaction between-ethanoic acid and sodium carbonate produces a salt,
CO, and water..What is the salt ? 1

zw@mwsmww&ﬁmmmw CO, OIF AN R
o | 7RI R & 92

QWWWWWMW@%W%CQ@«W ‘
R I TRArINF 2 o

er e o7S 3 o e Y e ST e R, €,
& Wl | wftaf g 7
@mmmmmﬁztﬁaﬁm%mmwmzwm

| I B 8 | I T TR 7 |
B23-GS (EN/AS/BN/BD/HN) 22 3050
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() Find ‘X’ :

X R

X R

X’ A ?

X wR?

CHyCH,0H —%, cH,coon -
&

10. Draw the ray diagram for the i image formatxon by .a convex lens, when object is

- 11,

placed at centre of curvature. 2
TG TR G S A e i R erfeRrs e e e 4 |
43 TG (T Srwr I T (TR @R eifoR T IS e 3 |

TR TR S fireara Sk gan e 3 v wmiETaty e armi R |
I I gT0 T wfafere 1 o R s Wi e e sFa s w RE |

Decomposition of 2 g of ferrous sulphaté Crystals when heated generated 1 g solid
oxide and two different gases. Tdentify the solid oxide and both the gases by
writing proper chemical reaction: 2

o1t et 2g TR TG (TR Rearem 9 1 T SRS W ¥R R oI
B W | QAR IR RiFm flR et swnze [ o ] 1R o
fore 341 |

it et 2g Wwwmmlgww&wm@wm
@wﬁmlmﬁnwﬁﬁﬁﬁﬁmﬁmwma«@www
A
ﬁgﬁWngmmﬁmﬁmmlgwmmwﬁﬁﬁa
i | MRy arfed e fesesE) fT e TR S TEA WEA daa
frmftraem ) o

2g ¥W Tk & e B ™ FA W a8 fafm g 1g 3 sifaemse ol @
e -arem Nt @1 3@ war ¢ | AR ek AfvbEn | e woem
SAtaamee au gt At Y wgrfg |

B23-GS (EN/AS/BN/BD/HN) 23 | : 3050
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12.  What do you mean by Corrosion and Rancidity ? Explain with examples. 1+1=2
wiieem wiw AR 3fore e qunt 9 SRR TS et A |
RIS @2 GRS 7o $ e 2 SAreRet 17 e A |
TS T AR JTUTy e veern w1 gRr 7 AR dpramar @ |
weTor i fevgpar viftren & o e www ¥ 7 Sereor | o AR |

13. Write four properties of magnetic lines of force. 2

BT TR SIFRD! & et |

O IR oA of e | %’%
TS AITTEGIBRIN S S8 okm fR | |

TEH &3 et % R i ) fafeg )

14. Write two disadvantages of fossil. fuéls; ' S 2
Srareree X 71 e B ’
SPaTes X 7 SR e |
TS T ETHRA HY ATy R |
Stareft $u= it 3 wfat fafa |

15. State any two methods in reducing the problem of waste disposal. , 2

COI BIRGA FTT FREAT 7Bt =TS BT 4 |

BT R STt SRR 5 s S IR |

a3, argrafeTaTafy Sarah @Aty 2 sew Tw | \
ey fA9eA ) aven w9 ) & R Rl 2 et %1 o i |
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16. Why should we conserve forests and wildlife ? 2

I S T @1 TTy 6w sTereser g a9

T R INATRE @ 77 TS o 2

EETT TR T Rraerh wr) dtaiy g 7

R T 2 A e e e e 7 mgm

Al | JobAssam conr

17. What is meant by power of accommodation of the eye? 2
T Toarer e 3erce s gt 2
COITRA TeMaie et Fece H @R 2
AR TRITEAT e getaen w1 w7
<Y T g w1 SR R

18. State two factors does the resistance of a conduétor depend. 2
AR @1y FET 71 7Bt i ot | '
RV Ry 167 731 7S I oA |
SNt T AATER WA e R
3 FRe! = R fom w Rt etes @ fdw el aard |

19. An electric motor takes 5 A from a 220 V line. Determine the power of the motor
and the energy constimed in 2 hours. 2

1 CIGREAB 220 V ART %R 5 A &RIZ 7 | THABR TS A 2 THS X JW

71 #f Tferear | ‘
«3f TgRew bR 220 V A (S 5 A 2RIZ (W | AR WS ¢k 7 T

«fbz T T e @A IR |

TR DferE geg FFR 220 V AERER 5 A 89 dRY | 9 e AR 2 aREE
B wm afFE 7 |

g et 220 V & frga W & 5 A Rrge ww S ¥ | A Y wfF Pl
H a9 2 w2 # Hex ZRT ITGHI FA1 TREHIOTT BT |
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20.

21.

What is Blood pressure ? What are systolic and diastolic pressures ? What should

be the normal systolic as well as diastolic pressure values of a normal person ?
YB+l+¥%=2

TEor 5 2 BB w1 O R oet R 9 e TR R B8 Bt e
SIS B bR i R 2t Bt 9
wm@r ? PR w3 SRR o & 2 QWW’”WTWWW

GR TR HITR T TS 2637 TP 9 1
q TR A1 7 YT AT SR MERRY TR A7 7 R AAR S
YT TRYUTE R TR TS fraret et sy 7 7 '
TR 1R 7 W W 3R rgRiier gw wn # ?WWWWW
T g A 7 | ,

OR /&3t / &Rt / e/ avan( >
What is lymph ? How does it differ from plasma ? Whét are their functions ?
’ “+h+1=2

TR R 7 2T T ] TR <JoR 7 BN R R R 2
AR 2 et (e afts FrorR ek eRm TR R f 2
fomsan a1 7 oA S TR e AR @ERER T 2

THH TR P AT c e ed g - “

What is a neuromuscular junction ? How does a nerve 1mpu]se travels from one
part to the other part of the body ? - B+ 1h=2

NPT A R 2 29T Bt e 11 S S WA @ 2R

=W ,

TN R vﬁmaﬁw\wmumw\mwmmmmm

7

fordm Wit SEas W ?mmmﬁm@mmﬁmm

Tt arar gy 7

mmé&wt?m‘mmmm%wmﬂ@mmﬁmt 7.
OR / &3 / &3} / quT / J10an
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22.

23,

Draw a neat labelled diagram of a nerve cell and state its function. 1%+ % =2

TP 9B < =if¥wia e fi s Wi o 1 7@ 341 |

T TR w3 w1 s o i g o 3¢ 7@ 7 |

Foreiter et i i i R e anf sy af amrfvel anda |
T AT HIRTEHT Y T STET e 3 ] v R |

Give the differences between binary fission and multiple fission. 2
- Rrorer o Teforee wrerm sy wodat |
fa-Rrere w3 2eRereterm wug =iz orats | —_——
T e i ey e R s
ﬁ@:ﬂ ﬁxagvas:t‘r R T8 HIFAY | |
OR /&R / W / T /- $ierat
State the advantages in plants raised throughvegetative propagation. ' 2

wiEfaie fRpIaet oo 7t St 791 Sfew T o R R Rt ot 3w @

N

i3 RBRa WW%‘QWWWW g 1 6 R wnewt I %
AL
mmmmmwmma@mma@m
Hfyeh Yae % gRr S Ty ol & - glund A € ffew

What factors could lead to the rise of a new species ? 2

&%t e erefeq Besifed A R e PR Sz Qi 2
a7f T ererfen Besifien v R s PR SEpemet oW 7

' v e i ST U@ A AT e R g 7

I Agns E N T i HE A TEEs § 7
OR / &/ O / TUT / YR
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If both parents as well as the children are found to possess light eye colour then,
according to you the light eye colour trait is of dominant or recessive nature ?
Explain why or why not. 2

A Prg-g e 2ot Co&TeRe STOIR TRRCenS A “Mea 3¢l IZ I (SR
B “IIS7 T BRI P! (oM WS ereidl (7 w-eeid T X' ? R
T A

W Prol-ret ZemE W& Sivm IR Giced et I T2 IR O Bl
TRt A DI WRB o e e N u- 2 FOrRE TR 7 G W A
QY 1 [T IR |
R Far - fa el e iy mo'en i) Gty v T R fafee
Wﬁmmmé@amﬁwﬁhaﬁwwmmww»
mrhq?mﬁwﬁqmw%@al '
a&m(m—ﬁm)wa@ﬁﬁa?@mmﬁéam%aﬁﬁaﬁ%
mmmmm%mm ? vf e it rere i AET 2
| i
O
24. (a) Comment on the electrical conductivity of ionic compounds in solid and
molten states. ' o 1+1=2

W@NWWW%@WWWWW
1

WMWWQ«%WW%QWMW
ICA |

T S e ey 7R TR ST SR AT e e |
i vt 6 Sy e firerar 3 ferger wrerman w s Hif |

B23-GS (EN/AS/BN/BD/HN) 28 e ¥

Page 28 of 31



Al I"'JobAssam conr

(b) How electrolytic reduction is used for the extraction of metals ? 1

I TS e Rige Ao +15f e a1 = 2
4 e R Remer s1fs Rreica 3729 791 2 2
ug fefime e diftm fiftng’ s sffmem seEe! wEk STEEEE

IR ?
q@ﬁa&wﬁﬁmm&ﬁmwmﬁﬁmmi?
| - |

[

25. An object of size 7 cm is placed at 27 cm in front of a‘concave mirror of focal
length 18 cm. At what distance from the mirror should)a screen be placed, so that
a sharp focussed image can be obtained ? Find.the size and the nature of the
image. 3

18 cmvwmkwmawmﬂ cmquwnmvmww b1 33
TRCR | AT o1t Reie TS o] a2 R SIS = e (R elfSfy «bt

| IR 2 e S S S e |

S 18 cm CPRPPT O BRE 7o LY 27 cm TATE 7 om SIPER 43 78

WWIWWWWW@W%WWWWmmaw

ol “iheat AE2 2fERTF I Gk pfS f At | |

7 Afy TSR AR AR ETE 18 AN E'HFE AT W T T A
| fymre 27 Ay MeEE wReTE e | aeE et arer e

SR 8 T SRE 7 WS HE ST AU feg |

7 om TS 1 HN fa 18 om BiwE gt 3 forelt raae v & A 27 om R T

m%uz&w%ﬁraﬁqﬁmm@ﬁt@%mma@mwmmm

TS aS 7 YRR 1 ETES! YT A T AT |

OR /(%31 / *Jt / 781 / AT
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26.

B23-GS (EN/AS/BN/BD/HN) 30

A 2 cm tall object is placed perpendicular to the principal axis of a convex .lens of
focal length 10 cm. The distance of the object from the lens is 15 cm. Find the
nature, position and size of the image. 3

2 cm THOR 7@ @Bt 10 cmﬂ"wm’{%ﬁmtﬂwwwmw
T | IR *1A1 TRRE T 15 om | &feRe ergfs, s o S R |
2 cm TwOR @3 7@ 10 cm @ AR @ TwH @I T TR I
TSI A TN | G791 (F TGS 77 15 cm | &SR0T &PfS T GR
SIRPR foref e | - |
10 3 &' IR T g Sty T sty a2 Af el A AR
qaTE iR e e} | SRafser AR ety ST 15 3y | aeah ATy,
uraf AT wrrEfy TeEh feg | , w

H1E 2 om ofa1 ¥ 10 om B gt 3 e Terer ot 5 et gl 35 e v & | P

aﬁtﬁaﬁqﬂwcm%mﬁﬁaﬁﬁﬁr,@rf%mmmmy Wom

m
What is the full form of ‘ATP* ? Why is.it ¢alled as the ‘energy currency’ for most

of the cellular processes ? How do- “ATP’ molecules produced ? What is an
‘Endothermic process’ ? How dot*ATP> molecules used to drive these processes ?

| Y+ Y%+ 1+Y%+%=3

‘ATP’ 3 = ferh! 6 7 @feeiet ity efferme cvars 2o @@if 21 e St 3

QPRI R 2 “ATP - T G[RR QTR Tefirs = 2 Sroan® eifem 5 2 ‘ATP’
SRR T I SR I (RS (T IR IR 2

‘ATP’ - G 7= 9o1f5 1 9 @R @il aftr cvia afbes @il 91 ofegmr
AW @A ? ATP’ - 9 @1 el Sevifirs =1 2 Sroian®) efem & 2 AT
TGP QR SRR SehT T O POIR I2R F91 28 2 |
ATP {1 311g wea w1 7 maitem fraRgan el Semama sa frafeah var wfey
SR B A W AEL 2 CATP T weR s 2 fag g
fe@nfRan @1 2 ATP TEmRE! F6R f@Reme TRAE SamE Tt aErE
I ? - _
q.ﬁ.ﬁ.méﬁmw%?aﬁmmm%m@m{gmaﬁmgy
TS T F1 8 2 30 ol & TRearerq & ‘T, 107t 1 3o &3 B & 7

| OR /%31 / oA / Qa1 / o7
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What are the methods of excretion used by the plants to get rid of the excretory
materials ? 2+1=3

How do the strategies differ from that of the animals ?

BOIEIS FMILAIRT o131 T R Bfere s 6 P 2fFwR Sewarel 3 7 @%
SAfFIS et 741 (P Tz AN I T (FHETSLT (FEATC T 27

BT oIy (TE Tt SMeR e S 6 R e eifdr Sermer I 7 @]
&RFRITS efTate a1 FrerTz &1 STt IRt (FHET (T Prei 4 ?
mmmmm.mmmmmm 78
frEfRmTE aTERATE SETER RSaTiaET STEEAT Segg e 6 ?

el Tt & e 3 o e v e Pt S 3 e € 7 3 Rt
gt RRE e ‘

E2E
E
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